Teddy is counting in tenths.

Seven tenths, eight
tenths, nine tenths, ten
tenths, one eleventh, two
elevenths, three
elevenths...

\

J

Can you spot his mistake?

Teddy thinks that
after ten tenths
you start counting
in elevenths. He
does not realise
that ten tenths is
the whole, and so
the next number in
the sequence after
ten tenths is
eleven tenths or
one and one tenth.

True or False?

, o2
Five tenths is m smaller than 7 tenths.

, 2
Five tenths is m larger than three tenths.

Do you agree?

Explain why.

This is correct.
Children could
show it using
pictures, ten
frames, number
lines etc.
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